
Myooszoylotckn Idiozyza
-

Tia Kaa epiorda ap ,Av
6a

, B, U voxvour za abis:

T8367 : (o2+)+5 = 02+ (B+1)

DaGaonS : (.): = a.(B)

daypa: ( +21+3 = 3+3= 6
1+ (2+3)= 1+3=6

Apa(1+2)+3 = 1+(2+3)



Taigaza
qu)1) (3 +4)=2 = 712 = 9
3 + (4+2) = 3 *6 = 4
Apa( + 4) +2= 3 + /42)
2) (12+7)+3 = 1973 =22
12+ (7+3) = 12+10 =22

Apa(12+7)+3 = 72+ (7+3)



3) B :2) -5-.=38
3 . (2.5) =3 -10 = 40

Aga B -2) . 3 = 3 . (205)
4) (7 . 8) .2 = 36 .2=112

7. 18 -2) = 7-16= 112

Aga ( -8) .2 = 7 - 18 :2)



9) (3 . 1-21) . 4 = 7 6) . 4= -24
3 .(+2) ·4) = 3 . 1-8) = - 24
Aya B . 1-2)) · 4 = 3 . (72) -4)
6)(3 : 6) : (-2) = 30 - (-2)==60
So(6 . 1-2)= 5 - 1-12) = -60

Aga (5 .6) .1-2) = S . (6 - 1 - 2)



7)(72) . 81 . 4 =716) - 4 = -64
(-2)- (8 .4) = +2 - 32=-64
·Agor(1-2) ·81 .4 = (-2)-(8 :4)
⑧)(3)(-8)) - 2= 24 . 2=48
(-3) : (78) -2) = ( 3) - 1-16)= 48

Aga, (731 :1-8)) -2= (3) ·(ol .2)



9)(73) - 2):1-4= 76) : 1-41=24
(-3) : (2-(-4)) = (3)-1-8) = 24
(73) . 2) : (-4) = ( 3)-(e-1-4)

10)(3 . (2)) · 1-3) =75):1-5)=40
3 - (f2)--5) = 3 - 10 = 30
Aga,3 - (- )()-(-5) = 3 .(f2)-(5))



77)(72) - 1-3)) - 1-4)
= 6 . (-4) = -24

(2) · (13) . (-4))
= (2) - 12 = -24

Aga , (2) . (-3)) : (-4)
⑪D

(-2) . (73): 1-41)


